=a=bv R~/ P-36
—a— B0 FH) — A EKIECIERDLEEN
ke BE i T AR IR~
rct, R~rignskec ot | (b EEF)
AT, (D) x B5PE = SRR -FE
Yo ~aksnwBadt iz K_‘ ﬁ
9% \ \ NT I W& A L : >
FObOVL B ruoanEgeny lIUhQ%A—XnyPﬂpI‘E’iE‘?—/
34,
(@ﬁ) t't NCH
o BT s—RETRETS 1R T 5“*{;—!/773)?47. _—
DLAEFE . S s3AN6EY | o 85 PElI= ]@3"%*1 L
= 1165 £ £
L ND: 5 el X
uR Sar38anf, F~22c"- e ’Tz% S
S IFenng | AT
F, B0 A1<3zE—F 408 |/
B BrkMnuid, g H?}?ﬂ]

—_—
(-i;E?’ X)(lO) b5 49— GOMERLIC Mﬂﬁ’c? it B TR BB
PBEANCE L, b, AOEIDFIMCE 10 pTHAN G () EF, 2O E, A
D% 258 %, 1793l Tl

C/\C! l‘-:)

%5
™
cP)

o
N

~

i 120 4

a
N~ o4 7

¥+ »s.

A)

(P) =120t lo = (24/4
¢

f) =6+12 = \8/\///'\
/’\

A=

A

C)xc: 2>)

___%
i

36§/$

1208 1(%)
%

Snojp ) i

(7)=36—6 =30h%)

Ll \ 0O=l20130
1201% =4

95

ANQ251%5
l? "Z:gé

EX

A=|gotIo ADlaz=

BASZ ORI IS
T sR3E
LDIBZozuE
[8x2=36 (%)

34 x B
ik \
:\-120L : 6"%@}
i e A
\3ox'x/
@6—6/)27 x=[20730
- 30 = 405

NN AN




